Diagnosis

Sometimes when you innovate, you make mistakes. It is
best to admit them quickly, and get on with improving

your other innovations.
—Steve Jobs
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import pandas as pd
smsa=pd.read_csv('http://203.247.53.31/Stat_Notes/example_data/SMSA_USA.csv')
smsal['city_nm’,'state_nm’,'tmp_nm’]]=smsa[ city_name'].str.split(,,expand=True)
smsa.loc[smsa.tmp_nm.isna()==False, 'state_nm’]=smsa.tmp_nm
smsa.drop(columns=['city_name’,'tmp_nm'],inplace=True)

smsa.columns

[ Index(['jan_temp', 'july temp', 'humidity', 'rainfall’', 'mortality_ index',
'education’, 'pop _density', 'non_white_ ratio', 'white_color_ratio’,
‘population’', 'person houshold', 'household income', 'HCPot', 'NOxPot',
'S02Pot', 'southern', 'city nm', 'state nm'],

)

rtol
ol

A

Import numpy as np
def rskewed(k):
if (shapiro(np.sgrt(smsa.iloc[:,k]))[1]1<0.05) & (shapiro(np.log(smsa.iloc[:,k]))[1]1<0.05):
print(‘No Appropriate Normal Transformation(right skewed)’)
else:
if(shapiro(np.sgrt(smsa.iloc[:,k]))[1]<shapiro(np.log(smsa.iloc[:,k]))[1]):
print(k,":',smsa.columns[k], 23 84&t : LO|=tE" shapiro(np.log(smsa.iloc[:,k1))[1])
smsa[smsa.columns[k]+str("_log")]=np.log(smsa.iloc[:,k])
else:
print(k,":',smsa.columns[k], X|&Z2 et : Fe|=HE" shapiro(np.sgrt(smsa.iloc[:,k1)[1])
smsa[smsa.columns[k]+str(’_sqgrt’)]=np.sart(smsa.iloc[: k])
for kin [0,6,7,9,11,12,13,14]:
rskewed(k)
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[» No Appropriate Normal Transformation(right skewed)
6 : pop density 2¥E : R2IEE 0.6019314527511597
7 : non_white ratio HZ2HE : [AEE 0.24234969913959503
9 : population ZIHE : [OHE 0.38879480957984924

No Appropriate Normal Transformation(right skewed)

No Appropriate Normal Transformation(right skewed)

13 : NoxPot EIHE : {IE 0.45190250873565674

No Appropriate Normal Transformation(right skewed)

smsa_clean=smsa.drop(['pop_density’,'non_white_ratio’,'population’,'NOxPot'],axis=1)
smsa_clean.set_index(['state_nm’,'city_nm’],inplace=True)
smsa_clean.columns

[» Index(['jan_temp', 'july temp', 'humidity', 'rainfall’, 'mortality index’,
'education', 'white_color ratio', 'person_houshold', 'household income’',
"HCPot', 'S02Pot', 'southern', 'pop _density log',
'non_white ratio sqrt', 'population log', 'NOxPot log'],

o Index(['rainfall', 'non_white_ratio_sqrt', 'NOxPot_log', 'S02Pot'] - 2= B4 1124501 CtE3
lkspedlE e il Sl

JeBE HeME ChsSHY ZE 0= A0|= TN 5B 2 He A E 22 = Tssdd T
Chot= 10| HE¢
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import statsmodels.api as sm

X=sm.add_constant(smsa_clean[['rainfall’, ‘'non_white_ratio_sqgrt’, ‘'NOxPot_log’, 'SO2Pot']])
y=smsa_clean['mortality_index]

fit=sm.OLS(y, X).fit(); print(fit.summary())

coef std err t P>|t]|
const 749.9201 27.390 27.380 0.000
rainfall 2.3070 0.536 4.300 0.000
non_white_ratio_sqrt 21.1766 4.500 4.706 0.000
NOxPot_log 8.3901 6.853 1.224 0.226
S02Pot 0.2734 0.115 2.381 0.021

import seaborn as sns

import matplotlib.pyplot as plt
sns.residplot(fit.fittedvalues,fit.resid_pearson,lowess=True)
plt.title('scatter plot of (yhat vs standard_res)’)
plt.axhline(2);plt.axhline(-2); plt.show()

fit.resid_pearson : E&Est XY, 371 #=X[7} O| & X|= LHthE

TIXPAEH 0 IHEO| RIAE|X] AN SELHEE 2HEo] HO|O2 MRy FF2 HEof 2elrt.

850 875 900 925 950 975 1000 1025 1050

102



Harvey A. and Collier P. (1977); Testing for Functional Misspecification in Regression Analysis,
Journal of Econometrics 6, 103--119. Johnston, J. (1984); Econometric Methods, Third Edi-
tion, McGraw Hill Inc.

oS 47121 AL : ['rainfall','SO2Pot','non_white_ratio_sqrt','NOxPot_log']

o A™EAH 2 HO| singular0|HA A& 27Hs

import statsmodels.stats.api as sms
sms.linear_harvey_collier(fit)

[» /usr/local/lib/python3.6/dist-packages/statsmodels/sandbox/stats/diagnostic.
rresid_scaled = rresid/np.sqrt(rvarraw) #this is N(0,sigma2) distributed
Ttest_ lsampResult(statistic=nan, pvalue=nan)

coef std err t P>|t|
const 830.0761 19.470 42.633 0.000
non_white ratio_sqrt 29.0494 5.104 5.692 0.000
NOxPot_log 7.7094 5.504 1.401 0.167

M

M Al

L—

02!
1o

Op=
el

Ct.

o

[» Ttest_lsampResult(statistic=-1.3128649183029175, pvalue=0.1946801876580764)
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Shapiro Wilks Test

from scipy.stats import shapiro
shapiro(fit.resid)[0:2]

> (0.9764071106910706, 0.30617254972457886)

Omni Test

import statsmodels.stats.api as sms
Sms_omni_normtest(ﬂt_resid)[o:2] C» (2.4099034575110974, 0.2997064663681783)

Jarque-Bera Test

import statsmodels.stats.api as sms
sms.jarque_bera(fit.resid)[0:2] Cs

(1.6269737093137193, 0.4433096119893797)
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Elgh
TIXEQ | FX| MEHE <=> (BEHLt SEHS) UHE > LI fan 2
Z£94:0| Z40f| O|Z5101 A0 K| ALE ZOFE! - S24 7FH0| RUHX|H 24H0] 2 HEO|A Z4H
72| 2L0| Mehd= B0 S0t 0] M v BOZICi 28 W& =+ 818, Ol= 240[ AB=

2
0; X X;

f

Sk 74 2 A fitted line
y

YL

HR7HE : H0|H= SEihdE 2=,

CHE7HE : HI0|H = sEttds 4X] =0t

Breush-Pagan test

Gujarati, Damodar N.; Porter, Dawn C. (2009). Basic Econometrics (Fifth ed.). New York:
McGraw-Hill Irwin. pp. 385-86.

import statsmodels.stats.api as
sms.het_breuschpagan(fit.resid,fit. nodel.exog)[0:2]

> (4.603492413842828, 0.3304517157923367)
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Goldfeld-Quandt test

Goldfeld, Stephen M.; Quandt, R. E. (June 1965). "Some Tests for Homoscedasticity". Journal

of the American Statistical Association. 60 (310): 539-547.

import statsmodels.stats.api as sms
sms.het_goldfeldquandt(fit.resid,fit. model.exog)[0:2]

> (1.2360606749433112, 0.30093136098479994)

ofl 2 et

=A7t El= oS 3|2 LHE7| 1)t 22 Y migt 7hset

i}

P
O|Z4F heterscedasticity 2| HEH y,=a + Z Bixi + e

k=1
) p
st — =—+ 4.+ Zﬁkxkl(no e an (&
Al k=1
sl 272g : S&He= — HEE2 g,0ICt
Kki
OLSCHA WLS 7HE2|2XHsH ArE
p
ming s Z wiy; — a — Zﬁkxkl)z% x| A3} o= FEXIE 7HSE|AFFE0|2) ot
k=1
o~ It (e
VSR w; = <& A8
Yi

[S2ANS BIESIARIS OIRIY - IEERIS HEtRlo| 64|

import statsmodels.api as sm
y=smsa_clean['mortality_index’]

fit=sm.OLS(y, X).fit()
fitw=sm.WLS(y, X, weights=1/(fit.fittedvalues**2)).fit()
print(fitw.summary())

X=sm.add_constant(smsa_clean[['rainfall’,'non_white_ratio_sqgrt’, 'NOxPot_|log’,'SO2Pot']])
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ZHA+ 61.2%

const

rainfall

non_white ratio_sqrt
NOxPot log

S02Pot

749.4647
2.3758
20.7074
7.7735
0.2872

27.456
0.537
4.582
6.831

27.297
4.423
4.519
1.138
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A|AE Cl|O|E] 20i| 2t TIC

i Z;I;z(ft . t’r—l)z
Durbin Watson E7|2F Y€ - DW AEEAZEC| 22 2(1 — )0l ZALBICE ARA|4 4
2 (e, e,_)2 &EAS (<=> 2XI2| 1K} X}7|42A|4=)0]|LCt,

QAL SEI0|H r = 0 0|12 DW = 2 O ZAFSITE,

(DW O|EH)

Reject Ho: Do not reject Reject H;:
positive Inconclusive Hn:No evidence Inconclusive negative
autocorrelation of autocorrelation autocorrelation
| | | | | |
I | | I | |
D d d, 2 4-d, 4-d, 4

positive autocorrelation (2| AFztatA|)
o If DW < d; , &2 &A1V} EXY L.
o If DW > d,, X7 |&f2t0] ZXSHK| =Lt =& 0|C},

e lfd, <DW<d, 22 U == gl2
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negative autocorrelation (22| A£t2tA]) the test statistic (4 — d)
o If DW > 4 —d, , 2| 227} EXHStCt,
o If DW < 4 —d , Xt7|&2t0| EXSHK| A=LC}. SEIO|CY,

elf4—d, <DW<4-d,8E U U3

=4 7l
SEHPO| 1%} M| F(y,_, )2 USHPR ABSI7LL BEHR| RSV Y, = (V- ¥,_)S BE
Ha 2 AL

sm.OLS, sm.WLS &IS58 DW(Durbin Watson) Xt=s S=EIC}

coef std err t P>|t| [0.025
const 749.9201 27.390 27.380 0.000 695.007
rainfall 2.3070 0.536 4.300 0.000 1.231
non_white_ratio_sqrt 21.1766 4.500 4.706 0.000 12.154
NOxPot_log 8.3901 6.853 1.224 0.226 -5.350
S02Pot 0.2734 0.115 2.381 0.021 0.043
Omnibus: 2.410 Durbin-Watson: 1.575
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7|.|L_=|
O|&X| outlier : **DW_# Zt=X| W[ LHof| ExHstH Mgt 3| Mo|A S0 A=X| - (EX|) S| HEH
Het e, 43848 Boeed 61 d) 4A| = sl EE A

US| influential : M4 AL M HOfOM Mt 574 Moj| Q= BETE - (2H) ZFAS
2t TSP 0| B4 ROl TS SOl - HRE A2 () LYHS BEY FH BSAS O
273 5 24, 22 Ho| S 2H Xl

HEES ZIRIL AREHE TR (MF) 1 +2 0|0 O|YX]

(p =MHEA 7% =C{0|E] 4) 2820 2H

R
OIA%] - MR - 37ROl Bt £OHE <=> ZEA% £l
Aatx| : ZHHSE 7R SHe ZHO| UG <=> Moot 2 BHE oSste 20| Hsict

df=smsa_clean.reset_index('state_nm’) #3== O0|& SHIE A0 A H|2|

import statsmodels.api as sm
X=sm.add_constant(df[['rainfall’,'non_white_ratio_sart’, ‘'NOxPot_log’,'SO2Pot']])
y=df['mortality_index’]

fit=sm.OLS(y, X).fit()

import matplotlib.pyplot as plt

fig, ax=plt.subplots(figsize=(12,8))

fig=sm.graphics.influence_plot(fit, ax=ax, criterion="cooks")
plt.axvline(5/59);plt.title(’ *); plt.show()
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New Orions, Alabany : AfZdE =2 0|4 TA|, Maimi : AfYE W2 O|ah EA|
= Lol Rl=sON RE 2 P gt e el

New Orleans

’ ‘ Albany-Schenectady-Troy '

Buffalo

21 . ‘
o]

| o]
@ | c
s | o' o O

|
= o
e | e © = ® .
3 ‘ . ° 2 icdgo
v %] oo, *° ® ° Pittsburgh
= o e o San Diego
3 2 S) O O Worcester
2 o *
o Los Afigeles
7]

Miami-Hialeah

005 010 015 020 025
H Leverage

O|&X| 37H HAFHE Txf £2) ZEAIF 71.2% (OIEX| MAH T 62%)

smsa_clean.stres=infl.resid_studentized
smsa_clean2=smsa_clean[(smsa_clean.stres<?) & (smsa_clean.stres>-2)]
smsa_clean2.shape

> (56, 16)
H2kx| 270 X|2|(cook 0.2 0|&)) ZHEA|+ 66.7% (kx| M7 H 62%)
smsa_clean['cook']=infl.cooks_distance[O]
smsa_clean3=smsa_clean[smsa_clean['cook']<0.2]
smsa_clean3.shape

C (57, 17)
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C

H-pEH ATt 2[E P2 NOxPot_log : F2l5HX| 250t X|2l5tRiS

import statsmodels.api as sm
X=sm.add_constant(smsa_clean[['rainfall’,'non_white_ratio_sqgrt’,'SO2Pot']])
y=smsa_clean['mortality_index]

fit=sm.OLS(y, X).fit(); print(fit.summary())

coef std err t P>|t|
const 771.5640 21.014 36.716 0.000
rainfall 2.0005 0.477 4.197 0.000
non_white_ratio_sqgrt 22.6356 4.359 5.193 0.000
S02Pot 0.3669 0.086 4.263 0.000
=================================================================z /] I—Ij:”_JI\_

O &fX| X<

(* LA', 'New Orleans’)

: 60.9%

3 (‘" ‘Albany-smeneL!adyJ'
(* NY', 'Buffalo’)
) (]
..

‘—§ o]
o Oy Cpo ‘ ® o
ﬁ ¢ a o

. o* ¢ o o ® ' lebicane’
- B TR L . . (Pl bR
% o » ¢ (* MA', "Worcester!)
£a o
b

: *

{* FL'| '"Miami-Hsaleah')
’ )
a0s 010 01s 020
H Leverage

infl=fit.get_influence()

smsa_clean.stres=infl.resid_studentized
smsa_clean2=smsa_clean[(smsa_clean.stres<?) & (smsa_clean.stres>-2)]
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Z™A 2 1 74.4% (n=55, O|&X| 47 H|2|)
o O[X| HA gk : 28A 4 =01,

coef std err t P>|t| [0.025 0.975]
const 762.6993 16.539 46.117 0.000 729.497 795.902
rainfall 2.2147 0.372 5.955 0.000 1.468 2.961
non_white ratio_sqrt 21.4821 3.427 6.268 0.000 14.601 28.363
S02Pot 0.3892 0.066 5.886 0.000 0.256 0.522

ZE3|HEH : MO = 763 + 2.21Rain + 21.5NW. .+ 0.38S0O2Pot

sqrt

o oFo| 3t : 292, H[HOIH|8, SO2Pot £242 AIYE X4 07T,

« OLS FHXA| : p= X' X)~'Xy
FOIZI O St gL HIE < x
o Z7t
FOIT oS0 SHES FHY 1§ |y =x f+e,
.+ = QXI0| T BR0| 00|22 FHEL y |y, =z, fOR 7IchZt 2 SUsic

I
=~
I

Heo| MY AR0|EE S HETEEs xS IEL

[®Ne]
M| 7t
ZFO|Z oS40 SEWS 7|ThZ FHY EQ |x) =x, )
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0IZ27H M7 Ol 22 ALRSILE? AlZ|7740] oS 7HEC} KoLt o SH40| i BHE7Zt0| 7
OfF A2 2HWA HEYS OS5t 20|22 0|S77HS ALt 20| HESICH

p=fit.get_prediction(X)
p.summary_frame()

c mean mean_se¢ mean _ci_lower mean_ci_upper obs_ci_lower obs_ci_upper
state_nm city nm

OH Akron 929114084 4185916 920.710506 937.517661 867.772335 990.455833

PA-NJ Allentown 892201415 9268784 873593553 910.809276 828.652673 955.750156

GA Atlanta 987.959832 8.744795 970.403924 1005.515740 9247117 1051.208547

MD Baltimore 1044209981 11.037579 1022.05mM7 1066,368845 979532278 1108887684

AL Birmingham 1041,389435  11.246191 1018.811763 1063.967106 976567052 1106.211817

J

OI I
R
[
Sl

2tef M= 2 G|O[E{of| et o|Fgf2t L2 7tS FHethH Xof| MZ22 H0|HZYS &
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| A EH~S ZEE=2tet +)E O|ESIAX| T BH|0|EHoM= L1 E

from sklearn import linear_mode]

import matplotlib.pyplot as plt

lassoReg=linear_model.Lasso(alpha=0.1, fit_intercept=True, normalize=True)
y=smsa_clean2['mortality_index']

X=smsa_clean2[['rainfall’,' non_white_ratio_sqrt’,'SO2Pot']]
fit_lasso=lassoReg.fit(X,y)

plt.title('Reg. Coeeficients of (Motality)’)

plt.plot(fit_lasso.coef ); plt.show()

Reg. Coeeficients of (Motality)

20 -
15 1
10 4
G var Coeff
54 0 rainfall 2150825
1 non_white_ratio_sqrt 21140727
04

000 025 050 075 100 125 150 175 200 2 SO2Pot 0.378238

var_nm=pd.Series(X.columns,name="Var’)
coeff=pd.Series(fit_lasso.coef_ name="Coeff")
pd.concat([var_nm,coeff] axis=1)
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